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{ON A]
yhere we have “Fup.” and “F.p, 3 p,," and p, is the proposition to
0t 18 convenient to write simply

“F.pa D

(§} : F.op,”
'l‘. o~ will be a reference to tbe previous propositions in virtue of which
.licaﬁiﬂn “p13]3‘z" holds. This form embodies the use of %111 or %11,
os ANy proofs at once shorter and easier to follow. It is used in the

7 .. lines of the fOllOwing PI'OOF,
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sa. The proposition to be proved will be called “Prop,” and when
ends, like that of %216, by an implication between asserted propo-
of which the consequent is the proposition to be proved, we shall
k.ete. DF.Prop”. Thus “J . Prop” ends a proof, and more or less
Besponds to Q.ED.”
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315, ¥216 and %217 are forms of the principle of transposition, and will
il referved to as “ Transp.”

FiopDdp.Dup

' Note on the proof of ¥2:15. In the above proof, it will be seen

(4), () are respectively of the forms p, D py, PaD Ps, Py D py, Where

the proposition to be proved. From p, D ps, p22 ps, Ps D py the pro
P D p, results by repeated applications of %2:05 or #2°06 (both of w|

called “Syll”). Tt is tedious and unnecessary to repeat this proc
I time it is used; it will therefore be abbreviated into

«[Syll] k. (@)« (B) - (). DF.(d),”

of any length.

where (@) is of the form p, D p,, (b) of the form p, I ps, (¢) of the form
and (d) of the form p; D p,. The same abbreviation will be applied to a0
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s s the complement of the principle of the reductio ad absurdum. It
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CALCULUS OF RELATIONS

MATHEMATICAL LOGIC ON C]
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RAS=SAR
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F:RCS.D.RGCSvuT
F:RGS.=.RuS=S8
F:RCS.=.RAS=R

F.Ru(RAS)=R

F.RA(RvS)=R

F:R=8.D.R=RaS
F:RCS.D.RuT=(RAS)uT
FeeRCT.v.8GCT:D.RASCT
Fi.RCS.v.RGCT:D>.RCSu7T
F:RCS.D.RuTGCSwT
F(RAS)w(RAT)=RA(SuT)
l-.(RuS)r'\(RUT)=Ru(ShT)
F.(RuS)wT=Ru(SuT)
RoSwT=(RuS)wT Df
F:PCR.QGS.D.PuQCGRuS
F:P=R.Q=8.D.Pu@Q=RuwS
I-:PF\QGR.PARGQ.E.PF\Q=PAR
F.=(=R)=R
F:RCS.=.~8SCG-R
F:RG-S.=.8C=~R
F:RASGT.=.R-TG-§
F:R=8S.=.-R==8§



